INSTRUCTION MANUAL

43108138

43108138 - Dual Gas Lift Monitor Mount_IM_V1

Artwork Proof Date: 07.09.2021

PAPER:

80gsm
Bright white uncoated paper

PRINT COLOURS:

BLACK

C:0 M:0
Y:0 K100

PRINT FINISH:

Double sided
Folded in the centre

M All rights reserved.

Be sure to keep the arm in horizontal
& position during adjustment. Or else, it
would be difficult to adjust the mount.

If the monitor droops after

installation, adjust the force to the "+"
arrow direction.

If the monitor automatically rises

after installation, adjust the force to

the "-" arrow direction. J

Use a hex wrench to adjust the height tension of the gas spring arm, to
keep different weight of monitors still in any position.

Use a hex wrench to adjust the damp
for tilting. Turn counter-clockwise

to reduce damping and clockwise to
increase damping.

J

Insert cables into cable covers. Leave enough slack of cables at arm
joints for full adjustment.

Dual Gas Lift

Monitor Arms
Installation Manual

VESA

15" - 27" m 75x75, 100x100

43108138

> N VA
X o) 7
\< — \//

v

/A Prior to the installation of this product, the installation instructions must be
read and completely understood. Failure to do so may result in personal
injury, property damage or voiding of factory warranty.

/A Do not install on a structure that is prone to vibration, after movement,
uneven or chance of impact. Reinforce the structure as required before
installation.

A\ The desk clamp can support a maximum thickness of 9 cm. Check the
desk edge before installation.

A\ Pay attention to the weight capacity of the mount. Exceeding the
limitation can result in disfunction or even serious personal injury and
property damage.

/\ Never operate the mount if parts are missing or damaged. Contact your
local service center for warranty service.

/A Do not push, pull fiercely. Do not pull the clamp oppositely from the desk.
Never shake the base.Ensure the unit is used only on a flat surface. Do not
use this unit unless all bolts and screws are firmly secured.Check and
tighten all parts regularly. Not a toy, not for children to play with.

PRODUCT DIMENSIONS

JE1-9'g/Wwo6e-0t

% =
M4x30

Recessed surface installation:
Put spacers between headplate and monitor. Installl

12x5.8x16

the upper two screws and don't screw them tight.
Leave some space and hang the monitor on the “
head plate.

SRRLLAMMRY
b= o

o o

@ Recessed surface installation:
Put spacers between headplate and monitor. Install the lower
two screws and fasten the upper two screws.

4] o
M4xi2

Flush surface installation: Install the upper two screws
and don't screw them tight. Leave some space and
hang the monitor on the head plate.

®

S

|

\\\\\\\\\\\\
= C]
e Y

Flush surface installation: Install the lower two screws
and fasten the upper two screws.

TOOLS REQUIRED THAT ARE NOT INCLUDED

/e

PARTS INCLUDED

iy R

A M4x12 (x8) M4x30 (x8)

O

12x5.8x16 (x8)

B u ]
S=4mm (x1) S=5mm (x1)
c )
M6x12 (x3)

D - - (x1)

E Ssr—=<

(x2)

DON'T GET HURT!!!

The Gas Spring Arm has been
preset for a 6.5kg monitor.
Please hold the folded arm
ti%htlg and open it slowly
when removing it from

the packaging.

Remove the cable tie and take care to allow the rebound slowly.
Beware of sudden spring-back of the arm.

Grommet installation

Loosen the two screws on the base, pass it through a hole in the desk or
clamp and tighten to flat table edge, screw in the two screws that you
have just loosened.

Desk Clamp installation

@

N\

Adjust the desk clamp height
using different hole position.

Ensure 2 screws used for ﬁxiny

Tighten clamp using clamp screw until mount is securely fastened to desk.
Ensure the desk area which is held by clamp is even and flat.

wwoglL



